Principles of Algebra

Name/Date CICC /TBC["Y

ALL PROBLEMS CAN BE COMPLETED ON THIS WORKSHEET
WS 3C.z2 -~ More Solving Equations with the Variable on Both Sides

#1-10, Solve each equation.

1. 10+3(4—-6a)=—(6a+ 12)
10+ 12~ 1% = ~ba - 12
A2 -1%a = -6a-11

2 6+2(5-3m)=22m+4)

6 +10-bm= Um + %
b -bm = m + $

+ba  +0a -4y, 4w
23 =124 = -14 b - 1om = €
-lda = -39 -lom = =P
a::}% - :13 M= E—l% => m=-§—
3. 2(4k+3) =8+ 6(2k—3) 4 —2-4Q2r—1)=3(6-2r)
$¢ tb = B ¢ 13k - I -2-%C+Yy = |§ - br
Ik +6 = -0 + 2k 1-%c = I8 —06r
- 13k -k + b +6r
-4k +6 = -10 A-ar = 18
~4k = -6 20 = 16
K=4 r=-%
5. —4(7x+9) = 3(3 — 5x) — 4x 6. 9p—3(p+4)+2=-3(5+p)
-2%x - 36 = 4 - |5k -Yx % -3p-12¢2 = -15 -3p
-2%x ~36 = 4 - (4« 6p ~\0 = =15 -3p
+14x + |9 +3p +3p
-0x -36 =Q B - 10 =-IS
-dx =4S alp = -5
x=~5 =

P= 5




7. 3(q+5)+2=-11-4q
33 +15 +2 = -ll-Yy
3¢+ 13 = -ll-Yy

+44 ~q4 +352 +1.52
R 14z - 13 = -4
tg, = - 4% 142 = -1

: =Y _ v

Y 2 q

8. 6.5(z—2)=-2.5(3z+3)—-6.5

6.5z ~13 = =162 -2.5 -6.5
652 -13 = ~1.52 -4

9. 112m+2)—6=4m+4(3m-2)

A + R -6=Um I -F
AAm + e = lom -8

— s lom
bm +lb = -
bm = -4
m = -Y

10. 3(1.5+2.5x) = —6.5 + 5.5x — 2.5(4 + 2x)
45 + 3.5x = -6.5 +55x -10 -5x

4S5¢+¢35x = -165 + 0.5«
- 0.5 - 0.5%

4.S + Ix = -(65
Ix = -4l

¥ = -3

11. The product of 3 and the sum of a number and 5, then added
by the number, then minus 3. Find the number.

—an

n

lek N = the nombec  3(neS) 6 = -2(3-n)-3
In+ 15 +6 = -6 +2n -3
3n+2l = -4 +dn

n+al = -Q

to 6 is the same as the product of —2 and 3 and decreased

__o?n

= =30

The numbec is -30.




